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58509 Liidenscheid

Machen Sie die Briiche gleichnamig und addieren/subtrahieren Sie!
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ab a’b ab’
131 1 1 14. 3 4
ab Q_E 2a+4b  3a+6b
15. 2m+n  3m-2n , m—-3n _ 16. 1
6m-9n 8m-12n 2m-3n a2+2ab+b? B a2-b2
17. 5 3 4 _ 18. a __ b
X 2xy+y2 32— 3y2 - a>-2ab+ab>  a’b-b’
Losungen:
L2 1_6 1_7 2.7,5_63 65 128
9 9 9 9 3 9 117 117 117
301,11 8 4.3 15 5 4.1,3,5_21 27 35 83
3 6 8 24 24 24 24 8 37 9 63 63 63 63
5.1 1 1_20 15 12_47 6. 1 4 7_5 16_21_ 90
34 5 60 60 60 60 12 15 20 60 60 60 60
7.1 _2__(L+i) _30,40_15 36_19 8. (i__?_) (___3_) =2 4 1. 18 18 8
2 3 4 5 60 60 60 60 60 6 15 10 5 30 30 30 30 30 5
0. i+i:£+_§_=a+b 10. i+ 5 _3b, 5a_5a+3b
a b ab ab ab a b ab ab  ab
1.1 1 b, 1_b+i 12. 1.2_ b 2 2atb
a ab ab ab ab a’b ab® a’b* a’b?  a’b>
13. 1,1 1_ ¢ b __a _c+b-a
ab ac bc abc abc abc abc
14. 5 4 __15+8 _ 23

2a+4b  3a+6b  6a+12b  6a+12b
15. 2m+n _ 3m-2n Lo 3n _8m+4n-9m+6n+12m-36n__11m-26n

6m-9n 8m-12n 2m-3n 24m-36n 24m-36n
16. 1 . a-b ___atb _ —2b
a®+2ab+b?  a?-b?  (a’+2ab+bD(a-b)  (a?-b3)(a+b) a’+a’b-ab-b3
17. 5 B 4 _ 15x+15y x4y _ 11x+19y
x2—2xy+y2 3x2—3y2 - 3(x+y)(x2—2xy+y2) (x—y)(3x2—3y2)——3)(3—3x2y—3xy2+3y3
18. a N a’b+ab’ a’b-ab” _ 2ab’

a>-2a%b+ab®  a’b-b> (ab+bP)(a>-2a’b+ab?)  (a-ab)@@®b-b>)  a’b-a’b*-a’b +ab’




